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Course Logistics 1

Lecture environment:

- Interactions.

- Ask during breaks.

- Contact: david.seim@su.se

- Material:
- Gruber: “Public Finance and Public Policy”, 4th edition or later.

- Selected research articles.

- Lecture notes posted on Athena.

- Why many research articles?



Examination: Two Options

- Option 1:
A. Final exam (0 - 100 points).
B. Quizes with 5 multiple choice questions.
- Open a couple of minutes during the lecture.
- 3+ correct gives 2 points for exam.
- Maximum: 2x10=20 credits.

- Two goals:

(i) Incentive for you.; (ii) Feedback for me.

- Drawbacks: i. Stress (?); ii. Not possible to make up for missed
credit.

- Option 2: Option 1, but without the quiz credits.

- Grade only determined by exam.

- www.menti.com



Overview of Today’s Lecture

1. Talk about Public Economics on a broad level. Where is the
government present?

2. Lay out four questions that are the core of public finance.

- Goal of the lecture:

i. To provide an orientation of the role of the government and what
this field is about.

ii. Motivate why the field is interesting.

- Based on Gruber’s Chapter 1 and research articles.



What do You Think?

Introduction to Public Finance / Public Economics

What do you associate with Public Economics?

Go to www.menti.com



What is Public Economics?

Public Economics (or Public Finance) = Study of the role of
government in the economy

Government present in everyday economic life.
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What is Public Economics?

Public Economics (or Public Finance) = Study of the role of
government in the economy

Government present in everyday economic life.

- Taxes: Governments collect 30-45 % of GDP in taxes in
developed countries.

- Expenditures:
- Public goods (defense, infrastructure, safety, education),
welfare programs (health insurance, unemployment insurance,
income support, retirement benefits).

- local and federal governments account for 1/3 of national
employment in Sweden.

Regulation: Minimum wages, labor laws, environment, trade
agreements.
- Sweden’s Labor laws (LAS) reformed on October 1 2022.

- Macro-economic stabilization: Central bank policies
(Riksbank’s inflation target: around 2 %), fiscal stimulus.



Government Revenue in Sweden 2021
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Excise Taxes in Sweden 2021
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Government Spending in Sweden 2021
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Why Study Public Economics?

1.

STAKES ARE HIGH.

Size of government huge in relation to the economy in developed
countries. Gov’t revenue amounts to 30-45% of GDP.

. SCIENCE NEEDED.

Injecting science to controversial political debates has a high
value.
- Swedish example 1: Contentious debate about benefits and costs
of immigration. See Joakim Ruist.

- Swedish example 2: How to shield citizens from surging energy
costs?

. MAKE THE WORLD A BETTER PLACE.

Interest in improving the world — Interest in Public Economics.

. METHODS ARE INTERESTING.

Public Economics is undergoing an exciting methodological
transformation.
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Four Questions of Public Economics

1. When should the government intervene in the economy?
2. How might the government intervene?
3. What is the effect of those interventions on economic outcomes?

4. Why do governments choose to intervene in the way that they
do?



1. When should the government intervene in the
economy”?

1. Market failure: Market economy delivers an outcome which is
inefficient.

Government intervention = improve the situation.



When Private Market Allocation is Efficient

Ben’s Consumption

Jerry’s Consumption



First Role of Government: Improve Efficiency

Ben’s Consumption

Jerry’s Consumption



Main Market Failures



Main Market Failures

- Externalities - Greenhouse gases - regulation of emissions
and/or pigouvian taxes / subsidies. Mandatory health insurance.

- Imperfect competition - Monopolies or oligopolies (small
number of sellers) brings prices up too high.

- Imperfect and asymmetric information - Example:
Mandatory health and unemployment insurance.

- Individual failures - People are not always rational. Example:
people do not save enough for retirement, people do not care
about their health.



Paternalism and Individual Failures

Why do people choose actions which are seemingly unrational?

- Libertarian View: Individuals always do what they think is
right for them. Govt acts paternalistically if it distorts
individuals’ choices.

- Behavioral Economics View: Individuals have self-control
problems which the govt should correct.

Example: Sin taxes - taxes on fat and sugar. Should they be
present?



1. When should the government intervene in the
economy”?

1. Market failure: Market economy delivers an outcome which is
inefficient.

Government intervention = improve the situation.

2. Redistribution: Market economy delivers an efficient but highly
unequal outcome.
Government intervention = reduce inequality through
redistribution.



Inequality and Redistribution

- Market outcome may be Pareto efficient, but there could still be
room for government intervention if the distribution of resources
is very unequal.



Second Role of Government: Improve Distribution

Ben’s Consumption

Jerry’s Consumption



Inequality and Redistribution

- Market outcome may be Pareto efficient, may want government
intervention if the distribution of resources is very unequal.

- Redistribution creates a trade-off between equity (a more equal
distribution of the pie) and efficiency (redistribution achieved
through taxes and subsidies that lowers incentives to work).



Equity-Efficiency Trade-Off

Ben’s Consumption

Jerry’s Consumption



Example: Importance of redistribution argument

At present, there is a highly contentious debate in the US
about inequality of resources and policy responses.

- Rising inequality is the narrative of our time

= More redistribution.
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Example: Importance of redistribution argument

At present, there is a highly contentious debate in the US
about inequality of resources and policy responses.
- Rising inequality is the narrative of our time
= More redistribution.
Academically: What is the level of inequality today? How has it

changed over time?
Input 1: Inequality concepts.

Inequality of income or wealth?

Input 2: Data.
Where do we get data? And what type of data do we use?

Survey data or Administrative data.

Policy: Elizabeth Warren’s wealth tax proposal to combat
inequality. (Answers the 2nd question of Public Finance: How
might the gov’t intervene?)



Inequality concepts



Inequality concepts

- Lorenz curve L(p) at percentile p is the share of total income
earned by individuals below percentile p.

0< L(p) <p.
7 [ 7op 1% share: 0.19
Gini coefficient: 0.57
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Common inequality concepts

1. Gini coefficient measures the area between perfect equality and
Lorenz curve.

Gini=0: perfect equality. Gini=1: complete inequality (top
earner earns everything).

2. Income quantile shares measure the share of total income
going to given quantile [py, ps] from percentile p; to ps.
Examples: top 1% income share is around 20% < Top 1%
incomes are 20 times larger than the average.

3. Percentile ratios (Kuznets ratios) are zp,/2p, .

4. Poverty rate is the fraction of population below z*.

NB! Not constructed with Lorenz-curve.



Essential preliminaries

1. Inequality of what: income, consumption or wealth?

2. Time-period: measure outcome quarterly, annually or over the
life-cycle?
3. Unit of observation: individual or household.

4. Data sources:

i. Survey data, e.g. LNU — survey data administered at Stockholm
U.

ii. Administrative data, e.g. Income Tax Registers.




Limitations in the Swedish context
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Inequality in the US

Top 10% Pre-tax Income Share in the US, 1917-2015
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Source: Piketty and Saez, 2003 updated to 2015. Series based on pre-tax cash market income including realized
capital gains and excluding government transfers.



Decomposing Top 10% into 3 Groups, 1913-2015
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US Top 0.1% Pre-Tax Income Share and Composition

O Capital Gains

N Capital Income
OBusiness Income

O Salaries

Source: Piketty and Saez, 2003 updated to 2015. Series based on pre-tax cash market income
including or excluding realized capital gains, and always excluding government transfers.

“Working rich have overtaken coupon-clipping

Until 1998:
rentiers.”



Gini coefficient
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Piketty, Saez and Zucman (2018)

Gap between
® macro-measurements of growth and
® micro-measurements of inequality.

- How much of total economic growth accrued to the bottom 50%
or the top 10%?

- How does government revenue/spending affect the distribution of
growth?

Innovation:
- Bridge the gap by distributing national income to the citizens.

- Use tax returns, surveys and assumptions to allocate these
income.



How much labor income is missing?

80% From taxable to total labor income
70% Tax evasion & other
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Source: Piketty, Saez and Zucman (2018).



How much capital income is missing?

From taxable to total capital income

30%

25%
Retained earnings

N
S
X

Corporate income tax

15%

% of national income

10% Imputed rents + property tax

5%

Didivends, interest, rents & profits reported on tax returns

© O ¥ © N © O ¥ © N © 9O ¥ ©®© N © QO ¥ ® N © O ¥ ®
- 4 N N MO O T YT T OO O O O NN DR DD O I D
222 2 2222222222222 QL

Source: Piketty, Saez and Zucman (2018).

0%

2012



New series confirm tax-data picture

Top 10% national income share: pre-tax vs. post-tax
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Collapse of the bottom 50 %

Bottom 50% national income share: pre-tax vs. post-tax
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How is economic growth distributed?

s Average annual growth by percentile, 1980-2014
o
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INCOME GROWTH
Over previous 34 yoars

But now, the very affluent
(the 99.999th percentile) —
see the largest income growth.
The poor and middle
dm 10 368 “IG 99.99th percentile
largest income growth.
In 1980
In 2014
Sth percentile 991h percentile
) b h th 8
Eona) masms INCOME PERCENTILE Higher Income

Source: Piketty, Saez and Zucman (2018) on request from
NYTimes.



Gender inequality

Average pretax labor income of

men aged 20-64 / women aged 20-64
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Source: Piketty, Saez and Zucman (2018).



Gender inequality

Share of women in the employed population,
by fractile of labor income
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Capital and labor shares

Top 1% pretax income share: labor vs. capital income
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Recommended reading

How the Rich Dodge
Taxes and How to

Make Them




Criticism: Auten and Splinter (2022)

Rising income inequality is partly an artefact of measurement
changes.

(i) 40 % of the increase in top share from 1960 to 2015 due to Tax
Reform Act (TRA) in 1986.

Reform:
lowered top statutory taxes,
— firm owners choose to report firm profits as wage income.

broadened tax base,
— more income had to be reported in tax files.

increased dependent filers.
— nr of low-income filers T — threshold for top X % |

(ii) Declining marriage rates in the lower part of the distribution.
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After-tax national income: Top 1% Share
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How can we affect the trends?

“Swecping and-
provocative.”
~~New Torker

GREAT
LEVELER

VIOLENCE and the
HISTORY of INEQUALITY

from the STONE AGE 720
the TWENTY-FIRST CENTURY

WALTER SCHEIDEL




How can we affect the trends?

- Can the government do anything?

- Walter Scheidel, “The great Leveler”:
- Questions the 2nd question of Public Economics.

1. Large wars

[\

. Revolution

3. State collapse

4. Natural disasters



Government the fifth leveler?

ii.

iii.

iv.

Expansion of the public sector during 20th century.

Post-tax inequality much lower than pre-tax (cf. Aaberge et al,
2010).

External shocks (which Scheidel describes) triggered policy
reforms.

Policy changes have long-lasting influences.



Argument i. Size of gov’t 1

Figure 13.1. Tax revenues in rich countries, 1870-2010
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Total tax revenues were less than 10% of national income in rich countries until 1900-1910; they represent between
30% and 55% of national income in 2000-2010. Sources and series: see piketty.pse.ens.fricapital21c.



Argument ii. Progressive taxes
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The top marginal tax rate of the income tax (applying to the highest incomes) in the U.S. dropped from 70% in 1980
to 28% in 1988. Sources and series: see piketty.pse.ens.fr/capital21c.



Top 1% Income Share

Figure 9.2. Income inequality in Anglo-saxon countries, 1910-2010
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The share of top percentile in total income rose since the 1970s in all Anglo-saxon countries, but with
different magnitudes. Sources and series: see piketty.pse.ens.fr/capital21c.
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Conclusion

Q: Should the government intervene by redistributing resources from
rich to poor?

- Question also depends on the efficiency-costs of intervening.

- Not clear there is a trade-off b/w equity and efficiency.

— Some evidence suggests rent-seeking important at the top of the
distribution.



2. How might the government intervene?

1. Tax / Subsidize Sales or Purchases:

- Use government policy to change the price of goods.
- Taxation, ex: labor income taxes, fuel taxes, alcohol taxes.
- Elizabeth Warren: Tax wealth!

- Subsidies, ex: food stamps, flu shots.



2. How might the government intervene?

2. Quotas and Mandates: Restrict sales of goods that are
overproduced (quotas). Ex: import quotas. Require purchases of
goods that are underproduced (mandates). Ex: auto insurance.

3. Public Provision: Government provides the good directly. Ex:
defense.

4. Public Financing of Private Provision: Government pays,
private companies provide the good.



3. What are the effects of interventions on economic
outcomes?

1. Direct Effects / Mechanical effects: The predicted effects if
individuals do not change their behavior.

- Example: Raise taxes by 10 percentage points (from 20% to
30%). If average income is 300,000 SEK, this effect amounts to
30% x 300,000 — 20% x 300,000 = 30, 000.



3. What are the effects of interventions on economic
outcomes?

1. Direct Effects / Mechanical effects: The predicted effects if
individuals do not change their behavior.

- Example: Raise taxes by 10 percentage points (from 20% to
30%). If average income is 300,000 SEK, this effect amounts to
30% x 300,000 — 20% x 300,000 = 30, 000.

2. Indirect effects / Behavioral effects: The effects that arise
only because individuals change their behavior (also called
unintended effects).

- Suppose individuals change behavior and work less with higher
taxes. Average income is 250,000 after reform. Then revenue
effect 30% x 250,000 — 20% x 300,000 = 15, 000.

30,000 — 15,000 = 15,000 lost due to behavioral responses.



4. Why do governments do what they do?

Political Economy: The theory of how the political process
produces decisions that affect individuals and the economy.

Example: How is the level of taxes and spending affected through
voting and voters’ preferences?



Normative versus Positive Questions

- Normative analysis - How should things be? How should
policies be designed optimally?

- When should the government intervene in the economy?

- How Might the Government Intervene?

- Positive analysis - How are things? Do income taxes influence
labor supply? How do governments choose policies?

- What are the Effects of Interventions on Economic Outcomes?
- Why Do Governments Do What They Do?

- Positive analysis is mainly empirical and normative analysis is
mainly theoretical.



My Research

Within Public Economics
Available on my webpage.

Analyses of the effects of taxes, transfers and social insurance
schemes on individuals’ and firms’ behavior.

Determinants of inequality.

Political economy: How are individuals’ political preferences
shaped?

Some of my work will appear in the course.


http://www.davidseim.com/
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